Quadrilaterals and Polygons Name heq
Trapezoids (6-6) Notes J

A quadrilateral that has atsleast one pair of parallel sides is called a i ! w ZQI d . The
sides that are parallel are called &QS 6 s . The nonparallel sides are called

- . If the legs are congruent, then itis an _| Sbﬂ ‘Q S ;
3 Trapezoicl.
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ISOSCELES TRAPEZOIDS
e Each pair of base angles of an isosceles trapezoid are s
N
e The diagonals of an isosceles trapezoid are -
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PORS is an isosceles trapezoid. S e > R
Find mZP.mZ Q. and mZR.
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) Using Properties of Trapezoids
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Show that ABCD is a trapezoid. Is it an lsq;fgles g,afeézld.*frc e \/W Must ot _por
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The segment that joins the midpoints of the legs of a trapezoid is called the /" IC/‘%.)K} 4 }"l,é',f?,«f?
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The midsegment of a trapezoid is parallel
to each base and its length is one half the
sum of the lengths of the bases.

MN | AD, MN || BC, MN = J{AD - BC)

MN is the median of trapezoid RSTU. Find a. A3x+58
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Finding Midsegment Lengths of Trapezoids

g«é;‘;s LAYER CAKE A baker is making a cuke like the g 8 £
-7 one at the right. The top layer has a diameter of
8 inches and the bottom layer has a diameter of 20

inches. How big should the middle layer be?
DG =1 (CU +&)
r . .
X =5(26+%) X"-DC’T
X = 12y lD(j]: Hmdr\fg‘\




